
Regler-Entwurf Simulation
Parameter alle Zeiten in µs Formeln
Inkrement 0,1 µs Uist1=Uist*K1
Regler Tr 10 Vr 16,5 Delta=Usoll-Uist
PT-1 T1 10 V1 4,5 RegP=Delta*Vr
PT-2 T2 1 V2 1 RegI=RegI+Delta*Ink/Tr*Vr
Faktoren K1 0,069 Regler=RegP+RegI
Hilfsgrößen Us=Us(n-1)*(1-Ink/T2)+Ur*Ink/T2*V2
Ink/Tr*Vr 0,1650 Uist=Uist(n-1)*(1-ink/T1)+Us*Ink/T1*V1
Ink/T1 0,0100 1-Ink/T1 0,9900
Ink/T2 0,1000 1-Ink/T2 0,9000
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Zeit Usoll Uist1 Delta Reg-P Reg-I Regler Us Uist
0 0,0 0,000 0,00 0,000 0,000 0,000 0,00 0,000

0,1 0,0 0,000 0,00 0,000 0,000 0,000 0,00 0,000
0,2 0,0 0,000 0,00 0,000 0,000 0,000 0,00 0,000
0,3 0,0 0,000 0,00 0,000 0,000 0,000 0,00 0,000
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